[ZE40E] H|REXS

AERKE]
1 &8
F3asok TILA)T INT BT [}
3 1
F3azok O O 2—0 1
3—0 3—0
2
TILA)T X (@) 1—1 2
0—3 2—1
INT X X 0—2 3
0—3 1—2
25 A
BB R BHACH JRILAZ— B B JIIE {32
3 1
B RE 5 X X 0—2 3
1—2 1—2
2
Biic<H @) @) 2—0 1
2—1 2—1
JRJLRZ— @) x 1—1 2
2—1 1—2
2 & B
T xA{U3 NEUhE RTF BEER [
3 1
(43 O X 1—1 2
3—0 1—2
2
INtEYmE X X 0—2 3
0—3 1—2
RTF o o 2—-0 L
2—1 2—1
2% C
T+ AAA EHLT4 a0y EE—IL B5 B JIIE {32
3 1
TFTHERhA X X 0—2 3
0—3 1—2
2
EvoLT4 O x 1—1 2
3—0 1—2
aOy&seE—IL @) @) 2—0 1
2—1 2—1
28 D
E—F v LT H=— Bi%5 B [[E
3 1
E—F X (@) 1—1 2
1—2 3—0
2
FyoLTa O O 2—0 1
2—1 3—0
H=-— x X 0—2 3
0—3 0—3




50/KDE A

=2 Y BEIXIT~ FyoT4—R [EN JI[E 2
3 1
a5vy X X 0—2 3
1—2 0—3
2
BEFEIF~ (@) X 1—1 2
2—1 0—3
FyoT74—RX O @) 2—0 1
3—0 3—0
50/KDER B
HFa1)o X T ZAAVR JXEX A B2 BX &z
3 1
HaysxX X X 0—2 4
0—3 1—2
TRAAYE O X 1—1 2
3—0 1—2
JRXER @) @) 2—0 1
2—1 2—1
i VAY S @) x 1—1 3
2—1 1—2
50£MDER C
YT ILTA TI=9HRX ERE3T B BEER [
3 1
7T ILT« (@) (@) 2—0 1
2—1 2—1
2
TJx=yHOR X X 0—2 3
1—2 1—2
HEE3TH x O 1—1 2
1—2 2—1
50/MDEF D
ST« LYyFR7 A 25957 B BX JIE {2
— = 3 1
S« 3
e X X 0—2 .
F—7> 0—3 0—3 F—F)
2
Lyk7A (@) (@) 2—0 1
3—0 3—0
ERo57 @) X 1—1 2
3—0 0—3




60 KDER A

HOESavk | S~AVER)—L ALTIILY [EE 5203
3 1
HDEIIVE @) @) 2—0 1
2—1 2—1
2
SRUARY—L X o) 1—1 2
1—2 3—0
AILTIILY X x 0—2 3
1—2 0—3
601X DER B
HEAR TIL—JA Becldd FRER [
3 1
HEAX @) x 1—1 2
2—1 0—3
2
I—nA x x 0-2 8
1—2 0—3
L &ZIEH (@) (@) 2—0 1
3—0 3—0
601X DER C
NAF1Y CYIES RSBEAR BT JE 15z
3 1
INAFaH X X 0—2 3
0—3 1—2
2
YIS (@) (@) 2—0 1
3—0 3—0
INSEAR @) X 1—1 2
2—1 0—3




